








8 what s the wavelength of the light emitted when the electron in a hydrogen atom
' = 17
jergues transition fram the ¢nergy ievel withva = S5 to.energy tevel n = 1

SECTION- D

29 The capacities of shells with a given principal quantum number are fixed l:uy the rules gw&TmﬂQ t‘ﬁl‘!
permitted values of the quantum numbers and the Paull Exclusion Prmctple The ﬂermltsl:ed values of the

quantum numbaers are

Principal guantum number n 1 to o
Azitmuthal quantum number | 0 to n=1
Magnetic quantum number m = | tot |,

Spin quantum number my -zor+ W

The Pauli Exclusmn Principle states that no two elec't'rons in 'Eﬁé"'sé-m‘é ! '*r':r‘ﬁ"? may hav

2. What is the maximum number of electrons having n'= 3and/| = 17

3. How many sub-shells are associated with n = 47
4. What is the total number of orbitals associated with the principal quantum number n = 37 |
OR :
The maximum number of electrons with | = 3'is



SECTION E
| 31. The reaction 2C + O, ——- 2C0. Is carried out By aking 24.0 g of carbon and 96 0'g ef Ov. Find
out

i

(@) Which reactant is left in excess?

(b) How much of itiis left? 2
: 2 S b & 3t ThEsEnil i
) How many arams of the other reactant should be taken sathat nething st at mesend. o :
- =)
the reaction 7 B A
OR

(@) What Is the concentration of sugar (CizH22011) in mol Lt If its 20'g are dissolved in enough water
to make a final volume up to 217 =
(b7 In three moles of ethane (CzHs), calculate the following:
Number of moles of carbon atoms.
(i) Numbet of moles of hydrogen atom
(iii) Number of molecules of ethane

32. (a) Draw crbital diagrams of the CzHa and C:H: molecules. BEE
(b) What is the total number of sigima and pi bonds in the fallowing molecules?
(i) hexanoic acid (ii) 2,3 dimethylpentane
OR
DIScUss (ne-shia pe

(a3 3
BeClz, BCls, SICls, Asfs, HiS, PH

MG ey :.ri =
J

(27" Which out of NHz and NF; has higherdipole moment and whi?

SBAMConsnder the élement N, P, O and S and arrange them is order af (3]
(1) increasing lst Ionisation Enthaipy.
(1) increasing negaltive electron gain.enthalpy
(i) increasing non-metallic character
by What is the trend of electroniegativity in a group and period? (2
OR

(a) In what ways Bohr's model is better than Rutherford’s model (with diagram).

(b) Draw the conclusions given by Bohr s model?



